Maths Homework - Algebra

Due Wednesday 2" July 2025

1) Here is a function machine.

Complete the sentences.

input output
—> +9 —>
When the input is 6, the output is .
The input is , the output is 54.

2) Complete the total in each column and row.

Y =8
3% =9

w

24

Q% %

TE|E 3

22

3) a and b represent different whole numbers.

a+b=6

Complete the table to show all the possible

values of a and b.

4) Solve the equations.

a+6=13
t-—19=21

49 = 48

t =

g=

~

~




Maths Homework - Algebra
Due Wednesday 2" July 2025

7) Use the bar model to solve 4f + 6 = 42.

42

8) Solve 11x - 6 = 104

5) Here is a set of scales. ‘

What is the mass of one cube?

6) If g = 8, what is the value of 3g + 4?




